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H=9.0m L=35.0m 150 89
2
H=8.0m L=60.0m 5 H30
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4H=9.0m L=35.0m 2000 89
H=8.0m L=60.0m
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3 H26
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2 100 84
1
H=8.5m L=42.0m 3 5000 H27
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70 81
1
10 H=10.0m L=80m 3 H29
2
H=7.0m L=30
M= 2000 81
100 80
1 H=10.0m L=60m 2 Her
1600 80
100 79
12 410.0m.L291.0n| 2 5000 H27
2000 79
250 79
13 8 H30
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2000 79
82 5 79
“ H=10.0m L=40.0m 5 o8
H=10.0m L=50.0m
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150 78
15 H=9.5m L=72.0m 3 H27
H=9.5m L=33.0m
3000 78
3
100 77
H=10.0m L=41.0m
16 2 H27
H=10.0m L=67.0m
2000 77
H=11.0m L=45.0m
74
17 H=7.0m L=33m 2 5000
74
72
1
18 H=8.0m L=25.0m 1 2000

A=500 2

72




4 3100

( 1
23
16
) 145m
71
1
H=10.0m L=36.0n
2
19 H=11.0m L=44.0n 4
3
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A=8,800m2
67
20 H=10.0m 2 5000
L=50.0m
67
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H=7.0m L=101.0n
2 3 5000
L=320m
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